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OBJECTIVE
=: You have four choices for each objective type question as A, B, C and D . The choice which
you think is correct , fill that eircle in front of that question number. Use marker or pen to fill
the circles. Cutting or filling two or more circles will result in zero mark in that question.
STION NO. 1
(I} The multiplicative identity of real numbers is
Ao ®! (C) 2 (D) 3
(2) . The tabular form of the set {x|[x€QAx* =2} is
A2,-¥D) B4 ©() O,-4 ;
{3)  The additive inverse of a matrix A is
@Wa  ®B-aA ©aA (U

Al
(4) If A= [8iiJmxn » then cofactor of a; is i
(A) ('™ BYCD™My  (C) (DM (D) (1M
(5)  The polynomial 3% <2x+1 has degree
' (A) 0 (B)3 )z (D) 4
(6)  If w is cube root of unity | then w* =
(A1 B0 (C)w (D)2w

—"
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(7} Partial fractions of a—_ﬁm will be gf the form o
A B 1 1 Ac.- B 3
(M) = '1";2- (B) T {C) e () I"I';-_—l‘i-;; _
(8) - The next term of the sequence 7,9, 12, ....... o s

A)ls B 15 ()14 () 18
(9} Reciprocal of A.P. is called

(A) AP (B) GP. (C)HP." (D)HM @C

(10)  Factorial form of n{n - 1)(n - 2) is

(A) =5 (B) 2y (8] T—ﬁi (D) s—ﬂ—}. " s
(11) If n(8)=20, n{B) = 2, then P(B) equals e
@10 (B) % ©) -= D) 1 \

(12) If a is any positive integer then 2" > 2 (o+1) is trugfor
(A)n<3 (B)n<3 (C)n=3 O
(13} Number of terms in the expansion of (1+x

(A)2n+1 (B)2n (C)za+2 (D I = p
(14)  The 60" part of 1-degree is calle
" {A) sscond  (B) tminute { (D) Radian

{15) sin(-«) =
{A) sec x (B) -sine {CHsin < {D) - cos x
16} The range of y = cosx i

{(A)-1=x1 <x<w (C)-lsy<gl (D) ~os<y<ew
A7y Angle belo ray is called
(A) Right blique angle  (C) Angle of depression (D) Angie of elevation

18)  With usual notation , s =
s B oz o
19 Tan' ()=
A3 B () w6 (D)
20) If sinx=1Y% ,thenx = :
(A) W6, S/6 (B) ~ni§, 56 (C) -w6,-5w6 (D)n/3, 23
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ECTION-I
ES‘HON NO.2 Write short answers any Eight (8) questions of the following 16
! | Name the property -3 <-2 = 0<I
2 Simplify ()"
3 | Express the complex number 1+i+/3 in polar form
4 | Define a group ) L
| 5 | Differentiate between equal and equivalent sets
& | Define a function. Also give one example of a function
0 -4 17
7 ! Showthat B= I 4 0 —3} is skew symmetric
<1 3 0
8 If A= [ n] show that A =D
§ | Whet is the rank of a matrix ?
10 | What are the extraneous roots of an equation ?
11 | If (x+1) and (x — 2) are factors of X" +px” +qx ~2, find the values of P and q.

Il 12 | Discuss the nature of the roots of equation x‘ t2x+3=0 ; -

UESTION NO.3 Write short answers any Eight (8) questions of the fn[]uwmg N 16
[ 1 T Define conditional equation
£ 2 2 Tx+25 T : 2 ’
- e e f"lnd value of B
3 Write partial fraction form of :::::f:g
4 Findzhesmtermuf' [ T T ——— 2 o !
S |16 2,% and 2 arein AP, show that the common difference is =% | ® |
— o 2"{ = s ———
5 Whmhten fth seque 1—\.r2 X+ “y iy —L g
|- n of the sequence x ; ¥, g IR oy L
7 |1f *,b? and ¢? are in AP , show that — .18 ; are in A,
L b+c c+a a-l-b i w |
| Sum the series 2 4+ (1 _i}+T T s —to B terms 1
|9 | Pind the value of n when "Cy = 1t " ' I
IU Expand (x+ vx* — 1 .
v. . L i
RE Find the 6% term in the expansion of (x I
12 | Using Binomial theorem find the value ]
JESTION NO. 4 Write short answers.an 18
| Convert the 35° 20" to radia _i
E -
E
4
5
6 [ T
? E
§ | In the right angled triangle ABC" if y=90°, x=58"13' b=1257.Finda
| 9 | Find arca of the triangle ABC, if a= 18, b=34 .c~ 30 ) B 4‘
10 | Define In-circle of a triangle ~ 3
11
Find the value of sec ( sin” (- ») )

I "301Vt51nx-rc05'x 0 inf[0,m) S -_ E j
IJI‘Eolvet‘mB—-g, €[0,n]
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SECTION-If

¢ Attempt any Three questions from this section Wx3=30

l Q. 5-(A) | State and prove the reversal law of inverse

aﬂ+1+bﬁ+l

a4 ph

(B) . Find “n" so that may be the IL.M berween “a™and “ b7

!

| Q. 6-(A) | Soive the system of linear equations x =~y =2 Z
2x-z=1

| : 2y-3z=-.|

(B) ! In how many ways 8 books including 2 on English be arranged on the shelf in such a
© | way that the English books are never together

—_— -_.'u- ———

Q7-(A) | If e, B are the roots.of the cquation ax® + bX + ¢ — 0 , form the equation whose

1 2l £
e e :
roots are o = i B+|3 : 0
; i
< ’ I

(B) | Identify the following series as binomial expansion and find its sum

{2 $ 25 357 :

1 48 4822 """ § ®

cos 8+4singd cosf-sind 2
8- | ¢ + =
: QB (4] Prove! tha cas §-sing cos &+sind 1=Zsin?g & i
| - ® 9

I (B} | Provethat:  cos 20° cos 40° cos 80° = ;1
! Q.9-(A} | Prove that with usual notations Q
| o o I = i =
: (B) | Provethat  tan e :,+ tan On =

‘ \e\ |
|' j
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